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QUESTION 1

You must implement GoldenGate in a master-to-master configuration. What output from the profiling scripts should you
look for to ensure that your implementation is correct?

A. Tables set with nologging

B. Tables with Large Object (LOB) data types
C. Tables that have conflicts

D. Triggers and sequences

Correct Answer: C

QUESTION 2

Which Logdump command is used to check how many change records are in the trail file?
A. STATS

B. REPORT

C. REPORTCOUNT

D. COUNT

Correct Answer: D

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GLOGD/wu_logdump.htm#GLOGD121

QUESTION 3

You want to map exception to an exceptions table using the MAPEXCEPTION option of the MAP parameter. When
should you proceed?

A. when the names of both the source and target tables in the MAP statement are wildcarded
B. when there is a unique restriction on the exception table

C. when there is a primary key on the exception table

D. when there is a failed operation logged on the source table

Correct Answer: A

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/ wu_errorhandling.htm#GWUAD502

QUESTION 4
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You are experiencing an issue with the downstream database server for the Integrated Capture Downstream Model.
Which step should you take to resolve the issue?

A. Ensure that the Oracle database version on the downstream database server is the same version as the source
Oracle version.

B. Ensure that the platform type of the downstream database server is the same platform as the source database
server.

C. Ensure that the GoldenGate version used on the downstream database server is the same version used on the
source database server.

D. Ensure that the GoldenGate version used on the downstream database server is the same version used on the target
database server.

Correct Answer: B

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GIORA/ic_deploy.htm#GIORA472

QUESTION 5

An integrated Replicat is running with PARALLELISM set to four, yet you discover that for a series of large operations,
only one apply server is processing the operations. What is the reason for this issue?

A. Operations are grouped into one apply server automatically based on GROUPTRANSOPS.
B. Parallelism for an Integrated Replicat cannot exceed one.

C. The operations for a particular table are pinned to a specific apply server.

D. The operations are all part of one transaction.

Correct Answer: A
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